@

JleTanipoBka
NPAMOI INIGYBANbLHOI MALIMHM
MOAENI SG6




CXEMA BHPOBY B PO3IEPAHOMY BHTJISIII
MOJIEJb SG-6




IMEPEJIK JETAJIEN

Ne \HA3BA K-CTh
1. |IIHYP MEPEXHUI 1
2. |MY®TA IIIHYPA MEPEXHOI'O 1
3. |®IKCATOP IIIHYPA 1
4. |ITBUHT M4 x 14 6
5. |BMHUKAY-BUMHKAY 1
6. |TBHUHT M4 x 30 6
7. |TBUHT M4 x 16 4
8. |KOPITYC PYKOSTKHU 1
9. |KOPITYC PYKOSTKU 1
10. |EJIEKTPUYHA IJIATA 1
11. |KOJIECO PEI'VJIIOBAHHS EJIEKTPOIUIATU 1
12. [TBUHT M4 x 10 4
13. [TIPY)KUHA 2
14. |BYTUIBHA LIITKA 7x11 2
15. |IITKOTPUMAY 7x11 2
16. TBUHT M4 x 10 1
17. |TUTOCKA ILIAUBA M4 1
18. [TDTACTMACOBA IIIAWBA 04x011x1 1
19. [MATHIT 08x015x5 1
20. [TIPOKJIAJIKA 08x012x10.5 1
21. |KOPIIYC JIBUT'YHA 1
22. |CTATOP 1
23. [TBUHT M5 x 60 2
24. |[KOXVYX BEHTWISITOPA 1
25. |KYJIbKOBHWH HIJIINAITHUK 608 zz 1
26. |SIKIP M1.0 6T 1
27. |KYJIbKOBUH HIJUINAITHUK 6000-2RS 1
28. |®JIAHELIb POTOPA 1
29. [[IPY>KUHHE KUIBLIE S-12 1
30. |3YBYACTE KOJIECO M1.0 33T 1
31. |ITPOKJIAIKA 015.1x022x5 1
32. |KYJIbKOBUM HIIILIUITHUK 6002 zz 1
33. |KOPITIYC PEJIYKTOPA 1
34. TBUHT M5 x 50 4
35. |ITIEPEJHS PYKOSITKA ITIPABA UACTHHA 1
36. |ITEPEJHS PYKOSITKA JIIBA YACTUHA 1
37. |KYJIbKOBUM HIIILINITHUK 6203 2RS 1
38. |IIPYKUHHE KUIBLIE R-40 1
39. |IUTIOHKA 4x4x8 1
40. |BAJI 1
41. TBUHT M5 x 12 2
42. [KOXKYX 1
43. |®IKCATOP KOXYXA 1
44. |OIOPHUI ®JIAHELb 1
45. [TAVKA OITOPHOI'O ®JIAHILSI 31.9 1
46. |IMCKOTPUMAY 1
47. |TOPLIEBUU KJIIOY 1
48. |TAMKOBUU KJIIOY M17 1
49. [TAKOBUH KJIIOY M22 1




